log AY/Y)

log (Y/AY)

LABJNDu4-Normhelligkeit L*

L* YacmL*w  nc=100,
L* LABJNDu4"n(A1n+A2nY)/(A2nA0n) (Yao/100<Y<=Y, )

g =IN(A I(Aa Ao (=YIY,)
J-*'l‘@%)a‘ 'ﬂ ﬁ 80/ l_*w(go; =2771"
L*,=49,L* =1780 > [

L*g5=2770,81, Ay | .6666 Azu—!J 0438, ¢=0,42

L*1g=1779,78, A, + 8007, A=0,0024 |

L'a,6- 782,771 LIT9.78 ST RANWEndUngS
4 l I)(J 1
':XNZO,Z Xw=5

LABJNDu4
Normfarbwertdifferenz
Yoc=L* w nc=100,
L* Laganpua=IN(A1n+A2nY)(A2rAcn)  (Yao/100<Y<=Yyo)
L*Laganpua=IN(A1ntA20)/(AziAon)  (X=Y/Yy)
dY=Agn(A1r+AznY)=Aon(A1+Ag,X). Siehe CIE 230:2019
dYoq=0.15, Ay=0,6666, £,=0,0438, ¢=0,42
dY;g=0,03, A\;=0,007, A4,=0,0024
dY3,6=0,01 Y, =18, dY=0,03

L*,=178Q dYu 0,03 dY,/Y,=0, 001;3 y
bereich

LABJINDu4
. Normfarbwertemfindlichkeit
SHEYY Yoc=L*w - nc=100,
L* Laganpua=IN(A1n+A2nY)(A2nAcn)  (Yao/100<Y<=Yyo)
L* Laganpua=IN(A1ntA20)/(A2iAon) - (x=Y/Yy)
AYIY=Agn(A1r+AgnY)Y=Aon(Arr+AgX)Y
(dY/Y}5=0,0016, A,=0,6666, /4,=0,0438, ¢=0,42
(dY/Y)5=0,0018, A=0,007, A,=0,0024
(dY/Y} 60,0029 Y,=18, dY=0,03

bereich

log(dY/Y)F-2,72 m——o 11,\ ~_

L*,=1780 dY,,=0,03 dY,/Y,=0. mmﬁ =1~
xN=0,2  xw=b5

LABJINDu4

- Normfarbwertkontrast
G Yoc=L*w - nc=100,

L* LaBINDua=IN(A 17+A20Y)/(A2nAcn)  (Ynd/100<Y<=Y,,0)

L* LaBaNDua=IN(A 17+A2)/(AgiAon)  (X=YTY)

YIAY=Y/[A on(A1ntA2n V)X Y/ [Aon(A1n+AuX)]
L*,=178Q dY,=0,03 Y,/dY, 529 o
log(Y/dY)=2,72 m,=0,13 - = ==

(Y/dY bo=596,34, Ay=0,6666, A=0,0438, 404

(Y/dY) 6=339,41 Y,=18, dY=0,08 S

1%=1
Xn=0,2  Txy=5

LABJNDu4 relative Normhelligkeit L*/L* ,

LAL* YocmL*w - nc=100,
L* Laganpua=IN(A1n+A2nY)/(A2nAon)  (Yae/100<Y<=Y,c)
L*| AganDua=IN(A 10t A2 ) (A2iAon) — (X=YTY)
L* (3,6)=783L* ,(18)=1780,*,,(90)=2771
L*gg/L* (=155, Ay,=0,6666, /5,~0,0438, ¢=0,42
L* 1/L* =1,00, A =0,007, A4,=0,0024
L¥3 dL*,=0,43,L*=1779,78 =18
log[L*/L* J=0, m,=0,33

Iog(AY/AY )

Anwendungs-

LABJNDuA4 relative
Normfarbwertdifferenz
AYIAY,, Vol 100,
L* Laganpua=IN(A1n+A2nY)/(A2nAon)  (Ya/100<Y<=Y;c)
L1 AganDua=IN(A 10t A2 ) (AgiAon) - (X=YTYy)
dY/dY =(A1ntAX)(A1+ALY)
dYoy/dY,=4,43, Ay=0,6666, ,=0,0438, ¢=0,42
dY;g/dY,=1,00, A=0,007, 4,=0,0024
dY; ¢dY,=0,31 Y,=18, dY=0,03 %
y
L*,=178Q dY,=0,03 dY,/Y,=0 0018 s

Anwendungs-
bereich

log [AYY) I (AYIY),]

Anwendungs-

LABJNDu4 relative

Normfarbwertempfindlichkeit
S/Su=@YMIAYN), ot ™S EIE0.

L* Laganpua=IN(A1n+A2nY)/(A2nAon)  (Yn/100<Y<=Y,o)

L ABaNDua=IN(A 10t A2) (A2iAon) - (X=YTYy)

(@Y/YY(AYIYV)=[(A 1+ A X)X (A 17 +A)
(AY/Yo/(dYIYI=0,88, Ayr=0,6666, 4, =0,0438, g=0,42
(dY/Y)g/(dY/Y)=1.00, A1=0,007, Ar=0,0024

(AYIYy g(dY/YV)=1,73 Y, =18, dY=0,03

TS

log[(dY/YY(dY/Y)J=0, m=-0,13 1
L*,=1780 dY,=0,03 dY,/Y,=0,001}

Iy =1

Anwendungs-
bereich

log [(Y/AY) I (YAY),]

(Y/dY)§=529,53, A,=0,007, A, ¥, oozgnwe"dung&

XN=0,2 Xw=5

LABJINDu4 relativer
Normfarbwertkontrast

CICU=(YIAVYI(YIAY), NomLr e ST00,
L* Laganpua=IN(A1n+A2nY)/(A2nAon)  (Ya/100<Y<=Y,c)
L aganDua=IN(A 10+ A20) (A2iAon) - (X=YTYy)
(YIAYY(Y/IAY)=[XI(A A X)(A 17+A L)
(YIdY)hg/(Y/dY)=1,12, A)=0,6666, A,=0,0438, ¢=0,42
(Y/dY) /(Y/dY)=1,00, A,=0,007, A4,=0,0024
(Y/dYY g(Y/dY)=0,64 Y, =18, dY=0,03

log[(Y/dY)(Y/dY),]=0, mu—o 13




